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Question Subject Question Correct Candidate Raise Objection
No. Answer Response

The resistance of a conductor of diameter "d"
and length "I"is R Q. If the diameter of the
conductor is halved and its length is also
halved, the resistance will be :

_ T "8t 3R FaTs "TA" & dTeleh (heareR) I
1 Section | gecter R 21 af wTeT (FEaRR) T R ST R B 2RQ
1 forar S1Tq iR Igeht oarg oY srmeft e & g, @
ufaRier ghm:
‘1 RQ '1 2RQ
(1 4R Q ﬁ 8RQ
How is the transient current in a loss-free R-L-C
circuit?
g1 AR R-L-C uRuy & efforer ey St gicht 82
9 Section D Oscillating
1 A Oscillating B None-oscillating AR S
SATIHM ST R A=
Q Square wave B Sinusoidal
R AT SqTahig
Poisson'’s equation is :
TTST hl THIhT &;
3 Section " ) d2v/dx? +
1 A 22 - . d“V/dx“ + d2v/dy? = p/eg
d“V/dx p/€o d2V/dy? = 0
¢ d2v/dx? + g
) ) d2v/dx2 +
d“V/dy- + ) )
9 9 d“V/dy“ = p/eo
d4v/dz®=0
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Section
1

Section
1

Section
1

In which of the following circuits, The transient
currents may not occur?
fAfefaa § @ frg uRuer #, &ifie g 781 &t
gapdll 87

A Pure resistive B .
L Pure capacitive
cireuits circuits
qui gfcRiges
TR gRaer

. o

¢ Pure inductive 0
circuits RLC circuits

SRUT gkgy

LG IRoT uRuy

Which of the following expression is correct for
electric field strength?

faegd & dtear & fog Fefafea 9 9 o @ adsa
g e?

#E:Dg iE=r/e
C1E=1‘[D ﬁE=D/8

How much energy will be stored in the
magnetic field of coil which has self
inductance of 15mH and current of 40 A?
15mH &t @Rend 8k 40 A hi gl varg areft
Higet (FSelt ) o Gachra &5 # feha-Tt Sotf ST gf?

A 15 joule 5 12 joule
15 12 St

Q 60 joule O 2 joule
60 e 25

Pure resistive
circuits

qui gfcRiges gRUY

E=D/e

12 joule

12 et
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Section
1

Section
1

Section
1

Under which condition, Transducers must

operate?
TIOSER ot for R 7 srasa danferd sem
qiee?

A infinite B constant

electromagnetic
field

Syefet fargger
I &

zero
electromagnetic
field

3 fagga
I &

electromagnetic
fields

R forga
I &

varying
electromagnetic
fields

gRadt fagd
I &

Which of the following is not an integrating

instrument?

fafafea & 9 @1 Us gHTeRe IuesT I8 82

A Voltmeter

gleeHleR

fan

Ampere-hour
meter

QR ey Hier

B

lw)

Watt-hour meter
gre-gel ATdch

All of the above
IuRI<h goft

Which DC motor has the least percentage
increase in Input current for the same
percentage increase in torque?

3ol g # gAE ufaerd g & forg fra St AR

# gqe e § T o ufderd gfg gidt 82
A Series motor B Shunt motor
2ot gefera AR ur geferd AR
q
:\JAc;rtT;rl)’ound O All of the above
e T IRk gaft

varying
electromagnetic
fields

gRadf faea
I &

Voltmeter

glecHIeR

Shunt motor

a1 Faferd AR
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Section
1

Section
1

Section
1

In D.C motor the percentage of residual
magnetismis .

St Alex # rafre gaer et ufasrd foham glar 8?2

12—3%, i 10-20%,
C‘ 50%, [1 5-10%,

Which of the following is the speed-power
output characteristic of a 3-phase induction
motor?

3-Thof $8aRM Hiex i Tie-UTaR $3eye fasiwan
A g amdtg?

Power output{pu) Powse output(ou)

Power utputpu)

For starting of an induction motor, star/delta
starting can be considered equivalent to an
autotransformer starter with the ratio of

e G e S s g, s de @il
& SUT & ATY Teh SHTSIHhIFR R &

SRTSR JTT ST GeheT 81
# 100%, i 57.73%,
C‘ 50.87%, [1 33.99%

5-10%,

57.73%,
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14

Section
1

Section
1

Transformer operating at 25-400 Hz frequency

contain core made of

T R Sty N ———————
_ O gIIeREErsl

>

Q

Air core

TR EHR

Highly
permeable iron
At g
gt

B

0

Highly
permeable iron
and Steel alloy
AP g
g ofRk geurd Ay
RIS

Steel alloy
gwTd Ay arg

If two-winding transformer of a given volt-
amperes rating connected as an
autotransformer, then it can handle

gfe; forelt oy 7 diee-grfier e & -geraer
TAIR oAl MfelciathiaR & U § SieT 9T 8, al
g ! FRIfa e ThdT &
A Higher volt- B Lower volt-
ampere ampere
I Tee-THfiER = giee-uefimz
q B cannot be
Same volt- .
amperes gfe?:'g:;%
A Tree-TRR - 2

A

Highly
permeable iron
and Steel alloy

IIh U
g ok swra A
gig

Higher volt-
ampere

I dlee-TfR
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15

Section
1

Why transformers connected in parallel should
have same voltage ratio?

AR | S[S TR I dieest ST 99 a1
g anfgy?

B To avoid full load
A To avoid other circulating
losses current
3G T & guf R gRE=R
aof 3 farg g T @ o
& fag
¢ To avoid no-
load circulating
current O All of the above
L TR R Ih Foft
g T @ ot
& farg

All of the above
Ik gaft
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Section
1

Section
1

If the percentage impedances of the two
transformers working in parallel are different,

then .
I TAMIER & 1 o 3@ &l SRR & ufasrd
ufderen serT g, dt |
B parallel operation
will still be
possible, but the
power factors at
which the two
transformers
operate will be
A parallel different from
operation will the power factor
be not possible of the common
MR Gl load
g gl ghm HFIR FaTe
a7t oft Gogag g,
<fer o aifs
PR TR &
SRR STt
Bid &, 98 g
IR & 21f<h BReh
Y fo= ghm
Q power factors
of both the D )
transformers transformers will
will be same bg overheated
. SahrER st
Y TIaHER & I
Foll g JHT
g

In PMDC motors, What should be the minimum

value of the ratio of the magnetic to electric

loading?

el (PMDC) et &, gadhra @ fagga wRoT &

SUTA T ~gATH AT foha =T g1 A1RY?

E #
e [1

50

70

parallel operation
will still be
possible, but the
power factors at
which the two
transformers
operate will be
different from
the power factor
of the common
load

TR GdTe
areft off darg gh,
dAfe g afes
FREF W
TmER - TETferd
gid 8 g8 9Hg
IR & ARk FRB
9 fa=g g

60
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19

Section
1

Section
1

The speed-torque characteristics of the BLDC

motor are similar to that of:

gt (BLDC) Hiex &l mfa-amgof &t fasivard
frach g 8 ?
A B Compound
Induction Motor Motor
TRUT Hiex o He
¢ DC Series O
Motor DC Shunt Motor
St Srof e ﬂ‘“‘g et
mex

Load duration curve indicates what?

IR 31afY Tk T S AT 872

A

the number of
hours for which
the particular
load lasts
during a day
S forg fasiy
IR U fe &
AREEGTIE]

the variation of
load during
different hours
of the day

& & fafa= e
& IR YR i
f=ar

total energy
consumed by the
load

YR gRT @Ud el
St

total number of
units generated
for the given
demand

& 11 7 & forg
3T 31T
el HE&AT

DC Series Motor

it Aot efem
M
total energy

consumed by the
load
IR gRT WUd &
St
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20 Section
1
2 1Section

Critical voltage limit of a transmission line is

increased by:

SIGIEY

A B Reducing the
Reducing the .
spacin radius of
btheegn conductors the conductors
heaedl & g

o Bear ot &
& HH PR H
RSP

Q Increasing the O Increasing the
radius of spacing
the conductors between conductors
Bt sgr e T R

(1) Unsymmetrical spacing configurations
cause the line interference.
(1) Unsymmetrical spacing causes the voltage
induction in the communication lines.

The above problems can be eliminated by

(1) sramfaa Rk o= a1 & efaensor o1 sRoT

EEGIE]

(1) ST g8 TAR TSI # giest URUT &l ShiRUT

CEGIE]

IWRIh GHETSN Al e AT fhTT ST TehdT 272

>

transposition

o

o

parallel lines

AR @Y

lov)

lw)

three phase

GIER

All of the above
I gft

Increasing  the
radius of
the conductors
dheaedl i B
g6l

transposition

o
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29 Section
1

23 Section
1

o4 1Section

Most industrially accepted insulators used in
HVDC is .

QodEiet & IughT fohy ST aret sifdenier sierifien
&9 § @iepd ggaiex ____BdEl

m

silicon rubber

A porcelain type composite type

ORI TehR & Raiferent= TR I7 T
TR &

g high resistance
toughened
glass type O All of the above
I gfaRiy SRk Tt
&

Grading of the cables is performed in order to
achieve

(i) uniform stress

(i) reduction in quantity of insulation

(iii) reduction in quality of insulation

_ urd @A & fg haetl it A i st §
(i) vergaT ufdere

(ii) TR &Y 7 # et

(iii) FregRter &Y TqoTa= & St

" (i) j (i), (if)

‘1 @), (i) '1 (i), (ii) and (iii)

Ferranti effect in long transmission lines is due
to the effect of

et TaRor el J T U & gag
th PRUT ET 81
A
L
c:’:\n;acitance B Line resistance
GIEERIGRE]
CIERRIIES
q D

All of the above
Iwis gt st

Line reactance

GIEGRIGLIG]

porcelain type

Ui IR &

(i)

Line capacitance

CIERRIIEGI)
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26

Section
1

Section
1

Which semiconductor power device out of the
following, is not a current triggering device?

afafaa & @ o 91 9efidiserex Uter 45 see

R o 7 22

A Thyristor B TRIAC
ATBRER Th

¢ cTo O MOSFET
Sftdyan Hhe

From the following options identify the symbol
of silicon-controlled switch (SCS) ?

Faferfea faeed & T fRfoena Frifa faa
(Toies) & vdfier dt ugam &2

Anode

Gate

Cathode

Drain
Gate
Source

anode

anode

gale
&'_
gate

collector

/ _ N
basze J }

\\- :!‘/'

emitter

MOSFET
Hithe

Gate

Anode

Cathode
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28

Section
1

Section
1

In the given diode rectifier circuit, The diodes
D1, D2 & D3 are connected to phases R,Y and B
respectively as shown. The phase sequence is
R-Y-B. The diode D1 would conduct from

oy 7 srts Reert uRuy &, smite D1, D2 ik
D3 AT TROTR, Y 3R B & 92 §U & ot foh feaman
T § | TROT 3RA R-Y-B g1 S/ D1

g Tafera ghmi

0 to 90 degrees
0% 90 feiht

30to 150
degrees

309 150 feft

0 to 180 degrees
0% 180 feiht

30to 180
degrees

30 9 180 feft

For the thyristor to remain in the ON
(conducting) state:

UTEREeR & TTe] (TaTer) ST H 5 8 & forg

no continuous no forward
gate signal is anode-cathode
required voltage is
&g AR e required
foTer Y CIERDILGR G
TG -Tgl ol gieest i
gt g STIIhT T8 &
. . negative gate
gate signal is . .
. signal is
continuously .
. continuously
required required
e e &t
R srrasaedr e
adie e 1 e
JTIIhT BT &

gate signal is
continuously
required

e e i PR
STIRT gid! &
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30

31

32

Section
1

Section
1

Section
1

Section
1

Which of the following motor is preferred for
automatic drives?

ffefed 7 @ ool I Hiex w=nford gga & fog
e Y ST 82

B
A Shunt Motor :/:tzt:;onous
a1 geferd AleR
gl JeahITeien Al
O Ward Leonard
g Squirrel cage controlled dc
induction motor motors
oY ORor Aex are foraars
e St atex

The H type poles are used to transmit the

voltageupto____ kV.
H TR & Tiel AT ITTNT et oht kV d&
TTRT e & forg forar ST 81

ERE
R

The reactive power component kVAR =

ufaferansfter «if<h geh kVAR =

>

kW tan@ 5 kVA sin@

O kw tan@ and
kVA sin@

kW tan@ iR kVA
sin@

Q.

kW cos@

Electrode potential of standard hydrogen

electrode at 25°C is V.
25°C TR AT BISSIS SAaLIS I S s f[ava
Vgl

112
as

o0
1as

Ward Leonard
controlled dc

D motors
ars INCIEIS
e St atex
D 132

kW tan@ and

b kVA sin@
kW tan@ 3fR kVA
sin@

B 0.0,
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34

35

36

Section
1

Section
1

Section
1

Section
1

Which coal contains maximum percentage of
carbon?

forg st § sifdeay ufasra e giar 82
A Anthracite B Lignite
TiETSe
¢ Bituminous O Peat
fogmg e

The solution which resist the change in pH is
called Solution.

ag faera= it pH & uRad= & ufokly srar g,
e sgear 21
A Acidic B Basic
anfreren &R
q Buffer O Neutral
IuTRIEf I faeas

X and Y are mutually perpendicular if angle
between them is

X 3R Y IRER dead ¢ afe Ich o= a1 ahior
8

A’m jn/z
R

Angle between vector x=(1,-1,0) and y =(1,0,1)
s

Tl (de) x=(1,-1,0) 3Ry =(1,0,1) & = &t
Ho_____ Bl

A w2 i w3
None of the
q above
w2 TR @
e

Bituminous

fagfra

Basic

/2

/3
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37 Section
1

38 Section
1

39 Section
1

40 Section

1

4m/9 radian= degree.

a9fema=___ faufh

EEE
o e

Volume of cone with radius r and height h is

ﬁwmﬁfh&‘hmﬁa@wm
gl

j 1/3nr2h ﬁ r2h
(1 2mrh 11 2mnr2h

The binary number 10101 is equivalent to
decimal number:

et T 10101 gamera dwan &
TR B

ER
BNt

Decimal number 43 in hexadecimal and BCD
number system is respectively and

S R ofe dieid g e &

T AT 43 ShAST: 3R
=
‘1 B2,11000011 E1 2B, 01000011

(1 2B, 00110100 ﬁ B2,01000100

B 80
A 1/3nr2h
A 21

B 2B, 00110100
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42

43

Section
1

Section
1

Section
1

The Radiant efficiency of the luminous source
depends on what?

e Fi & e Zard fohd R ek et 82

A

shape of the B temperature of
source the source
Fld e SRR G T aTaH=

wavelength of

light rays O All of the above
geRTeT foRzor &t Ih Foft
GRIEA>

Light waves travel with a velocity of :

TehTST a0 & T I R &

1
|

3x10"%m/s i 3x10"2cm/s

3x10"%cm/s ﬁ 3x10'8cm/s

In electrical resistance welding material of
electrode should have

fagd ufa’ty & gelagis & afcdn gl &
EEIEIEY]

A

higher electrical
conductivities
I fagga

HleTehdl

higher thermal
conductivities
3= AT ATetehdT

sufficient

strength to

sustain high

pressure at

elevated All of the above
temperatures Ik gaft

T aUEHE W

3T &a1d §1Y

g & forg v

e

temperature  of
the source
G T aTIE=

3x10"%m/s

All of the above
IuRh gt
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45

46

Section
1

Section
1

Section
1

Which of the following is not a constituent for
making porcelain insulators?

Frefod § & o TiRieH Sgeex 13 & g Teh

e T8l §?

A Quartz B Kaolin
FaES oo

Q Feldspar O silica
ThHag IGIGEDl

Biot Savart law in magnetic field is analogous
to which law in electric field?

Jadhrg & 7 Irate raé o faga & | fon

& IEU 8?
A Faraday law B Gauss law
e Fam Mg s
Q Ampere law B coulomb’s law
THiRR fam et <l fAgH

What is the divergence of the vector xi+ yj+ zk ?

gfear xi+ yj+ zk 1 e o &2

4

12
1o

Feldspar
Thdtg

Coulomb’s law

Gerr ot e
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48

49

Section
1

Section
1

Section
1

The co-efficient of coupling between two air
core coils depends on what?

& QR AR Gaferal & s g a1 0TI fohg 1R
AR F=ar &2

B mutual

A selfinductance inductance
of two coils between two
only coils only
Sharet &Y drefevat Sharet &) Grefordl &
T T-IRehed T urRTRe

WRehca

¢ mutual
|nduF:tance and D None of the
self inductance
of two coils :Eg\gﬁﬁaﬁé
& greferat et i
URTRE Rehed
3R @-IRepa

Which of the following materials has the
highest value of dielectric constant?
ffefea 7 @ forg varef # widea fadia o =
I=IdH grar &?

A Vacuum e Ceramics
fafa R
! Glass O Oil
CIE] ad

What is the set of all values of z for which X(z)
attains a finite value?

Z % Tft AT ot ST o1 8 forees fog X(2) T
IRAT A9 U et 872

A .
Radius of B Radius of
convergence divergence
3fagRoT &Y
IEEGEEIRERI
e
i 0 None of the
Feasible
solution above
: SWRH ALY &S
Y HATYTT ;|—5°I

o)

A

mutual
inductance and
self inductance
of two coils

& geferdt @
uRWRe% R
3R @-Rehed

Ceramics

R

Feasible solution
GHT GHTY
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51

52

Section
1

Section
1

Section
1

During short-circuit test of single phase

transformer, iron losses are negligible because:

Tehel hell SRR oh [ITE-Tfche TRIET0T & SR,

effech g1 =Tog et & aifes
A fulload current
i t lied
E, :f?e supple B the current on
transformer secondary side
ek & is negligible
& is neg
e P aﬁgﬂ T uet R g
J Moy
Sl EGED &
STl 81
! O the voltage
the voltage on :
; applied on
secondary side i o
does not vary primary side is
low
fgiiaes uet R
drere fﬁ;{ 4t T get )R
garg STUg<h d o] R
giaT e

Net field current in a d.c compound motor is

given by .
2t ShuE Hier # A thics @ee __grigfa
o ST 81
A Ik (net)=Ip+ B 1t (net)= I -
(Nf/Nse) Ia (Nf/Nse) |a
! It (net)=I¢ + O It (net)=If -
(Nse/Nf) Iq (Nse/Nf) la

Torque developed by 3-phase, 400 V, induction
motor is 240 Nm. If the supplied voltage is
reduced to 200 V, the developed torque will be
how much?

3-%hst, 400 V gRT faenfia simeof a1, 8aem Ay
240 Nm 81 afe amgfef &t 7€ aieest &l 200 V d
& o e STg, af fenfra st a1 feram givm?

60 Nm E1 120 Nm

240 Nm

— 0 =

[1 480 Nm

A

the current on
secondary side
is negligible

fadiaes gt R ey

g §

60 Nm
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53 Section
1

54 Section
1

55 Section

1

Overall efficiency of thermal power plant is
equal to .

UHA UTeR WIiC i Hof G&rdT & SRTER gidt
gl
A Generation B Thermal
efficiency efficiency
ST 81T g ggrar
¢ Ratio of O Multiplication of
thermal and thermal and
generation generation
efficiency efficiency
Fe ok 5 et SR ST
&I T SUTd TEFdT & O

A charge q is divided into two parts q1, and (g
- q1) what is the ratio of q/q1 so that the force
between the two parts placed a given distance
apart is maximum?

Udh ATART q &t &f 9T q1 3R (q - q1) & foefSia
o AT €1 q/q1 1 SrgTd T gt drfes & S g
T ST @A dTel & AR & ol F aef SHfehd 812

1 1:1, ﬁ 2:1,
C‘ 1:2, D‘ 1:4,

The electric potential at the surface of an
atomic nucleus (z = 50) of radius 9 x 10715 mis

9x10'15ma®1mﬁmm@zﬁ(z=so)eﬁr

g W fega gmar @ ghft 2

A 80 volt B 8 x 10 volt
80 dlee 8 x 10° giee

G 9volt D 9x 105 volt
9 diee 9 x 105 giee

Multiplication of

thermal
generation
efficiency

A 3R S

Z&7eT T U

8 x 10 volt
8 x 108 giee

and
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56 Section
1

57 Section
1
Section

58 !

1

The distance between a projector and a screen
is increased by 1%. Illumination on the screen

ot o B 3 i Y gt 1% 76 o 1 wB

R AT I

A Will increase

nearly 1%
& T 1% Al

s it

Will increase
nearly 2%
T AT 2%

g gt

low]

lw)

Will decrease by
1%

T 1% bl ot ghft

Will decrease 2%

H 2% &Y et gt

The capacity of a spherical conductor is 1 pF

then its diameter would be:

ek Tl ATeteh Y &8 1QF & df 39T 219 ghm-

A 1.8 metre

1.8 #iex

G 1.8x 103 metre
1.8 x 103 i

B

lw)

1.8 x 10* metre

1.8 x 104 Hiex

1.8 x 1079 metre
1.8 x 1010 ez

What will happen if two bulbs 100 W, 250 V and

200 W, 250 V are connected in series across a

500V line?

T g e &) gew 100 W, 250 V 3R 200 W, 250

V @t 500 V ATSH H el & STieT Sig?

A 100 W bulb will B 200 W bulb will
be fused be fused
100 @Te & Fed 200 4Te &l el
T gl g WISt & Sy

¢ Both bulbs will B No bulb will be
be fused fused
S ed WIS &t A Fod WIST el
ST ghm

Will decrease 2%

T 2% < et ghft

100 W bulb will
be fused
100 dr¢ oAl &9

RIS 1 ST
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59

60

61

62

Section
1

Section
1

Section
1

Section
1

Which of the following acts as depolariser in
Lechlanche cell?

fferfEa 7 @ o Aot 1 | fagaes & wa A
I T 872

1 MnO» i NH4 Cl
C‘ Mn,03 ﬁ ZnCly

The unit of Peltier coefficient is—

AfeRTR T[UTich I ZhTS -

A uc ﬁ JATT
None of the

¢y above N
Ik fAreai T
A1 Ao

In which of the following cells polarisation is
the major defect?

Prefofed & & v 9ot § gyefieneor i 21w 27

A Voltanic cell B Lechlanche cell
AT AT GESERG]

! Daniel cell O Rosario Cell
e 9o AR I

Which act is used to regulate Indian power
sector in present day?

T T H TR fasie! &7 ol _iffaffa s &

forg fore sifefem avr STt feRar SiTaT 872
A .
Ind
n |an‘ : B Indian Electricity
Electricity Act,
2003 Act, 2000
g IR faggd
sifafags, 2000
sifafaam, 2003 '
d .
|
ndlan. . B indian Electricity
Electricity Act, Act 1985
1992 '
e IR fagd
sifafaas, 1985
sifafaas, 1992 '

A

NH, Cl

JATT

Lechlanche cell

GESEEE]

Indian Electricity

Act, 1992
IR fae@
Irfafaam, 1992

Page - 22




63

64

65

66

Section
1

Section
1

Section
1

Section
1

Which one of the following can act as an
inverse transducer?

fAfefEd 7 @ oo g ufae i gasgeR & U A
I PR GehdT 82

A LvDT B Strain Gauge
TSI [EEAGRSEIEED

Q Capacitive O Piezoelectric
Transducer Crystal
Fofdfeg dieiigaifaen
[ASEPCHN foreeet

The voltage at the two ends of a line are 132
kV and its reactance is 40 ohms. The capacity
of the line is:

Qeh 18 & QI ORI IR ateedr 132 KV g 3R e
ufaETd 40 SNgT &1 TS o &THAT &

d 435.6 MW i 500 MW

1 217.8 MW ﬁ 251.5 MW

For a three phase system, calculate the
instantaneous voltage (in V) of phase Y, if the
instantaneous voltages of other two phases
are +70 V and —50 V respectively

1 st ToTTeft & T, thet Y & dTchlferes dteest ch
UM (e #) &, Afe &l ot &l dicchlfeleh ateest
A +70 V 3R -50 V &

ERE
ER

Determine the instantaneous value of the
alternating current (in A), which is represented
by i(t) = 10 sin (25t-15) A, if the value of t is 3?
TATad [l STRT 3T dTcetiores 71 (TRieR &) 1
FifSig, 2 i(t) = 10 sin (25t-15) A gRT &ifar
ST &, afe t 1 A 3 87

1 8.66 ﬁ 7.66
C‘ 10.66 [1 5.66

LVDT

435.6 MW

-20

8.66
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Calculate the value of the quality factor of a
series RLC circuit having resistance,
inductance and capacitance of 30 Ohms, 27
mH and 0.03 mF respectively:

Ueh gl 3TR. Q. I, uRU & T[ureT shiReh o T4
A1 IO R FSIreRT TRy, tRehed ofiR eTiRar 330
Ohms, 27 mH 3R 0.03 mF &

S
j 26 ﬁ 32

Two capacitors of 2 yF and 4 pF are connected
in parallel across a 100 V DC supply. The
energy stored in the capacitors will respectively
be

2 UF 3R 4 uF & & 9u1ia Ter 100 V DC Smgfd &
MR A S gY &1 Herlal A dufed et shAsn:

__ ghfty
A 01J,02J 51 0.01J,0.02J
None of the
¢ 0.001J,0.002 above
J SURIh & 9 Pig
gl
Millman's theorem yields:
e Ui veH R B :
A B Equivalent
Equivalent
voltage or
voltage source
1 current source
& g et o
[EECEINEIG]
Q Equivalent O Equivalent
resistance impedance
gAged iy TAge ufaaren

B 0.01J,0.02J

Equivalent
voltage or
B current source
FAg dieest AT
[EECEINEIG]
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During discharging of a capacitor of C = 100 uf
through a resistance of 1 KQ applied with 50V,
the voltage at the time of the it's time constant
is

50 V& 91y 1 KQ & ufaRier & aream @ € = 100 pf
& Qe GRS & fAde & <R, 39 993 fRRIs
B Rl g

‘150V ﬁ 12.50V
140V l123V

What will be the secondary voltage (in V) of a
potential transformer, if the value of system
voltage is 11000 V, the turn's ratio of the
potential transformer is 108 and the
percentage voltage error of the transformer is
5%?

U1 ATl S EhieR o gt diees (alee 7 ) T
ghfY, af gorrett aieest @1 #19 11000 aee &,

UTE et ZRIthIAR T &+ S1gaTd 108 & SfR ZiamhisR
& gfard aieest 3 5% 8

1 96.8 E1 86.8
C‘ 106.8 Ei 116.8

What is the decimal equivalent of the
hexadecimal number BF9?

TS AT BF9 ol &1 TAJed T 672

1 2802 j 3065
ﬁ 2048 1 1024

A boiler at home is switched on to the ac
mains supplying power at 230 V, 50 Hz. The
frequency of instantaneous power consumed
is:

R TR Ueh gafd (dTger) @t 230 V, 50 Hz R
farteft Y 7 omgf @ Siver man &1 @ua &t

dTcehticren 2feh &l g fohat gt 2
1 100 Hz ﬁ 150 Hz
C‘ 200 Hz ﬁ 91.3Hz

50V

3065

100 Hz
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Which of the following diodes is also known as
a hot carrier diode?

fr=fefead & @ fone srats &t i argas (8fe HRR)

IS & =g | o} ST STrar 82
A Varactor Diode B PN Diode
RIS fiuT sRits
O None of the
Q Schottky Diode above
Medhl st S | I A
EEil

A factory runs in 2 shifts of 12 hours each, in
which it consumes 30 kW and 25 kW in each
shift respectively. Calculate the energy (in kWh)
consumed by the factory per day.

Ueh hIREHT Udeh 12 € i 2 ureft & =erar g, g
Tg U TTelt H shAgT: 30 kW iR 25 kW &t @od
T g1 Ufd G PREM gRT @ud Sl (fhettare )
I T R

A 660 B 720

¢ s80 O 440

A steel plant runs in 3 shifts of 8 hours each, in
which it consumes 30 kW, 25 kW and 15 kW in
each shift respectively. Calculate the energy (in
kWh) consumed by the factory per day.

Ueh 3TTd T3 U 8 ©¢ chl 3 UTell & Treldr &,
S a8 U ureft & shrsn: 30 kW, 25 kW 3R 15
kW ehY @Ud el 81 SEUTd S5 gRT ufafes Susir
I ST arelt Sett (kWh &) &t 70T @l

1 196.6 i 560
C‘ 760 [1 580.6

C Schottky Diode
Mehl sME

A 660

B 560
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A 4 kVA transformer has iron-loss of 200 W
and full load copper loss of 200 W. The
maximum efficiency at unity power factor will
be?

Teh 4 kVA & iR | sfig-g1f 200 W 3fiR gof
R TR a9 g1+ 200 W g1 3ehTs 21fch T[0Teh TR
rfreher qard = geft?

68.7% 70.9%

80.9% 90.9%

— 0 >
— 0O _

A transformer has efficiency of 80% and works
at 100V and 4KW. If the secondary voltage is
240V, find the primary current.

ek IR Y gerdT 80% & 3k ag 100V aur
AKW R & &l g1 afs fgcfiaes ateedr 240V g, dt
il 4RT 719 HifSTl

# 18.5A ﬁ 40A
C‘ 30A ﬁ 20A

A transformer having a turn's ratio 1:5 and a
resistance of 500Q is connected across the
secondary terminals. What is the equivalent
resistance for the current flowing in the
primary?

Ueh githiR fSrent & Sigurd 1:5 iR fgdtaen
Zhfa W a1 ufoRtey 500Q € | T & ORT varg
& forg Togea ufa”iy a1 g 2

1 500 ﬁ 40Q
C‘ 20Q [1 10Q

D 70.9%
B
C 200
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Which of the following combination of 3-phase
transformers can be successfully operated in
parallel?

fAfefEa 7 @ o @ Brepet (3-%heT) THER &
TIIST ot GHMIR § thaldTgdd Taferd forar S
Hehal 87

A A and A-Y B v-y and A-Y
A-Y 3R A-Y Y-Y 3R A-Y

¢ A-AandA-Y D v-AandAa
A-A 3R A-Y Y-A 3R A-A

A 200V DC machine supplies 20 A at 200 V as
a generator. The armature resistance is 0.5 Q.
If the machine is now operated as a motor at
same terminal voltage and current but with the
flux increased by 20%, the approximate ratio of
motor speed to generator speed is :

T 200 V, DC AfH S Rex & 0 & 200 V 1R 20 A
Y STyfef et &1 3TeRT SR Ufakter 0.5 Q 1 afe
At s I fifaet ateedr oIk fagd T ¥ Aler &
wu # garferd fovar Sirar §, AfehT vt & 20% <6
g & a1, at Hiex 7fd & STRex i fd et
S SrguTe e ghr?

1 1.06 ﬁ 0.87
C‘ 0.75 ﬁ 0.96

DC generator used for voltage drop
compensationis knownas .

gicedr ua- AfdeR o forg IuahT fohg ST aret St

STeR aht & =g § ST AT 81
A Series B shunt
goft gfe
¢ Cumulative O Differential
compound compound
It difren fadee difven

A-Y and A-Y
A-Y 3R A-Y

1.06

shunt
N rd
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In DC machine torque is proportional to

Sftafiad omguiaa & Ay giar
2l
A flux B armature current
TR IR e
¢ both flux and D
None of the
armature
current above
SWRHH T
TeTery 3R SRR - e
e g

Identify the control signals are generated by
the timing and control unit of 8051
microcontroller in order to access the off-chip
devices apart from the internal timings.

& forg 8051 HTSehicheloR o TH 3R =07 3h1s

GRS 7o el Y oA R
A ae B psSEN
TqTs fogse
¢ RD&WR .
RSN 3R All of the above
TRYIR IuRi<h Tt
RISC stands for
SRITEYT srafa
A B Restricted
Restricted .
Instruction Instruction
Sequencing Sequential
Computer Compiler
RfgRs dgaem Ri€ws sam
R degex
EREIECH
Q Reduced D Reduced
Instruction Set Induction Set
Computer Computer
IS ST Reee seavm d¢
eI hoeR

both flux and
armature current
TR 3R R
CarAani

Restricted
Instruction
Sequencing
Computer
Rfgats e
RIGART e
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How many bytes of bit addressable memory is
present in 8051 based microcontrollers?

8051 3MuTRd ATSehichgior # foe gedee AdR &
fohet aTge Hivle 81d 82
Asg bytes B 16 bytes
8 15T 16 ST3TH
¢ 24 bytes O 32 bytes
24 91388 24 913

How many 16 bit timers/counters present in
8051 microcontroller?

80571 ATSthiche ek & feha- 16 fae TTgAR/@AReR gl
&

A sensor that can be used for detecting the
presence of objects surrounding it without
having any physical contact is termed as

|- I e
37T ATH-UTYH chl S¥g il hl SUTRATT 1 IdT & &

e siaearg,_ wgaErsl
A Current Sensor B Voltage Sensor
q - D
Proximity Frequency
Sensor Sensor

16 bytes
16 915

Frequency
Sensor

Thiede SR
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Choose the correct statement from following.

fafafea 3 9 o svyw @ 9= Hifsul
A Pressure
regulator B Pressure
reduce and regulator
control fluid increase fluid
pressure in pressure in
compressed air compressed air
systems. systems.
&qre e gqrg fFames
yonferal # g yonfera # ga gara
19 i hH 3R e &l
i w=ar g1
¢ Pressure O
Pressure
regulator
) regulator remove
remove dirt ]
oil from
from .
. compressed air

compressed air
svstems systems.

y . &
gang e )

) ddifsa arg
sifa g R e
yonferd & et 3
&l gerar gl

Illumination = / Area
wfa=___ /&%
A candle power B intensity
thea Th rear
¢ Luminous flux
3 srfarg o w
Ydd

What will be the number of lamps, each having
300 lumens, required to obtain an average
illuminance of 50 lux on a 4m x 3m rectangular

room?

Teh 4m x 3m IAAThR HHR TR 50 AT cht 3igd
A= U A & forg 300 FAA aTet Uk AT

e fopaHt ghfi?

12
is

1s
14

Pressure
regulator reduce
and control fluid
pressure in
compressed air
systems.

g e
wifta g
gunferdt # gg garg
@l A SR Ffa
AT B

Luminous flux

ISR CIRR R
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Which factors are considered for illumination
calculation?

et it o & g R PReRt R AR e SiTar
87

A .

Waste light
astelig B Depreciation

factor factor
31ufre wepTr

¢ Coefficient of D
Utilization All of the above

) Ik gaft

UGN T TUTR

The Temperature control system of a Geyser is
the example of .............

A Non Linear
Control System B mimo System
R ges s THITSUHST JuTett
quTTe!

¢ Closed Loop D Open Loop
Control System Control System
3 (oS ) et (3fe) g
fA=oT yoTTeft faaor oTTeft

In what form is solar energy is radiated from
the sun?

g @GR Sl fohe w0 H FAeperdt 82
A Ultraviolet B
o Infrared radiation
Radiation
N 3f<h fafawu
q D

Electromagnetic Transverse
waves waves

Coefficient of
Utilization

Eepinkeakivicy

Open Loop
Control System

geft (ilom)
=0T o

Electromagnetic
waves

- v i
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What does section 30 of Chapter IV of Indian
Electricty Act 1956 refer to?

TR faggd sifafam 1956 & sreama |V &l &Rt 30
# o Hefofa 82

B Penalty for illegal
Theft of energy Lfgi?;s;?gnyor
ot &t 1 STAY TEROT T Sl
& IuahT & fg &g
O General Safety
Requirements
related to Service
Q Penalty for lines and
maliciously apparatus on
wasting energy consumer's
gafaguf s U & premises
Sl qafe et & IuihT o aRTIR A
Ay ds REICIESIRIN
IURUT & Hefdd
AT GRa
JTIIHATY

Which of the following is the class of the
insulation having maximum temperature
withstanding limit?

HAehTH ATIHI TG eh el HIHT aTet fAe[Ter o
A d @ aF arat g2

To 1
I ik

What is the formula to calculate the number of
poles required in LT line distribution?

TeId! ATe faraRur # srasaens el &hi TwedT <hl 7ot
e T A T 872

>
m

Length / Span + Length / Span +
1 10

fan)
lw)

Span / Length + Span / Length +
1 10

A

General Safety
Requirements
related to Service

lines and
apparatus on
consumer's
premises
IUIRAT & URTR A
dar s SR
Iuaol @ Tefda
R rem
IR ATY

C

Span / Length +
1
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A 250 volt lamp has total flux of 3000 lumens
and takes a current of 0.6 amp calculate
lumens/watt.

Gk 250 diee o o7 & 3000 JHT T Hf AT
BT & 3R 0.6 TR &l &1 AT &1 FAA/are i
TOMT &L |

EEE
ERE

LVDT is used for the measurement of

QAT (LVDT) &l IuaiT & AT &
fore forar ST 81
'} Linear B motion
displacement Y
e oo
¢ Force B angular
- displacement
Hiviy fawmE

Select the most suitable pressure-indicating
device from the following list to measure
pressure in the range 0-30 Mpa .

0-30 THUIY &t &i\T & gaima A1+ & forg e =it
H & g8 IuYh GelTa-Schd SUhRUT hl TG he|

A Mercury filled
U-tub
mal:w?neter B Bourdon gauge
RS A
URT 9T J-&S
Al
d O 4
McLeod gauge diaphragm
Aaferg 1 SRITShIH

20

Linear
displacement

e fawm=

McLeod gauge
Aepferig T
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In Three Phase Transformer, The load Current
is 139.1A, and Secondary Voltage is 415V. The
Rating of the Transformer would be:

e TR #, Al @ee 139.1A 8, 3R ddhedt
et 415V g1 ZiamrR i e ghih:

;1 50kVA E1 57.72kVA

(1 T00kVA [1 173kVA

A coil of resistance 100 Q, inductance of 100
MH, is connected in series with capacitor of
100pF calculate resonance frequency.

100 Q UfcRie T Teh e, 100 pH & IR @
100pF & el 3 a1 sjae H 2T g 8, 3G
3Tgfy Y TOT e |

1 1.59 Hz

1 1.59 x 10°Hz [1 2 Hz

ﬁ 1.59 x 10%Hz

One angstrom =

Teh YT =

A 0.1 Nanometer B 1.1 Nanometer
0.1 AR 1.1 Afiex

q
1.01
Nanometer O 2.4 Nanometer

2.4 FeR

1.01 Afiex

5400 Kilojoule =

5400 ferersie =

A 1.5 kilowatt B
hour 1 kilowatt hour
1.5 Rareitare ger 1 febefiee st

! 2 kilowatt hour O 0.5 kilowatt hour
2 fohettare ger 0.5 fopeitare ger

>

>

57.72kVA

1.59 x 10%Hz

0.1 Nanometer

0.1 A=ieieR

1.5 kilowatt hour
1.5 freitare der
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A 10 SWG electrode usually operates in the
current range of .

UH 10 SWGSARISIMAR R & err
A1 & danferd gar 21
A 25-45 amperes B 50-75 amperes
25-45 TEiTR 50-75 TR
¢ 95-135 O 400-600
amperes amperes
95-135 TafiR 400-600 TR

Which of the following electrodes will have
least diameter?

ffefea 7 @ forg sdagie o1 s gad & givm?

A 20swG B 16 swe

20 gHSsgsi 16 QHSYsit
¢ 14swe O aswe

14 qHSsgit 4 gt

How long does it take for the conventional VFD
(voltage and frequency dependent) to turn off
the inverter in order to start creating power?
TR fAafor uRRT wA & o e fiuts!
(AR SR hieddl R F3R) 59 &l ¢ weat A
IEGEIRSERES G

A 100 to 200 B 151020
milliseconds(ms) milliseconds(ms)
100 ¥ 200 159 20 fAcfiaehs
efihs (ms) (ms)

¢ 10t012 D 30t045
milliseconds(ms) milliseconds(ms)
10912 30 ¥ 45 Acfidehs
Aefiddhs (ms) (ms)

95-135 amperes

95-135 TrfirR

20 SWG

20 gaSsgsit

100 to 200
milliseconds(ms)
100 & 200
Aefiddhs (ms)
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What is the speed of an auxiliary rotor at no
load?

RT TR 3 SRR ew ) T1f et 2l 22
A N =Ng1/Ngy ﬁ N = N2
¢ N=Ng 1 N = Ngo/Ng1

What would be the Synchronous speed when a
stator is wound with a 3 phase windings,
connected to 4 poles with the supply frequency
of 50 Hz?

ST Goh W i 3 T aTsfaT § a18s dedh 50 8¢
1 MYFT SRRy aTet 4 et & SiteT ST ot Righia
Ty T giefY?

1 Ns =1500 RPM ﬁ Ns = 1550 RPM

C‘ Ns = 1450 RPM ﬁ Ns = 1400 RPM

What happens if a voltage of about 0.7 V is
applied across the base and emitter of the
NPN transistor?

g GG (NPN) 2iforex & sneR 3R Iegsfer W)
ST 0.7 V AT aiedsT oI ST ot &t giT?

A

A small voltage B A small current

\t/)v:tl Vg:::] e will flow between

two terminals the two erminals
. e & =

g el & i :; ofrgT T

T ofeT AT R

genfed gem

¢ There will not D

There will not be
any voltage flow
between the two

be any current
flow between

the two .

terminals termmalg

& o & at efifaen i
. IS gicesT a1

IS hec UdTE & g

el g

B N = Ng1/Ns2

A Ns =1500 RPM

A small current
will flow between

the two
B terminals

gt et & =

Th Ul e

EENECK]
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What are the two standards that guide the
method of calculating efficiency?

Z&TdT ch TTUTT chl Ul &l ATTEei e aTel &t
A &9 T &7

A 12R and ICE B NEMA and IEC
I2R 3R ICE NEMA 3R ICE

G NAME and ICE D' NAME and ISI
NAME &R ICE NAME 3R IS

What is the thermal conductivity of the
aluminium metal ?

QGHITIH &g <l T ATeTehd (U chefaefae)
a1 8?

d 235 W/mK i 253 mk/W

1 253 W/mk ﬁ 235 mk/W

What do you mean by Instantaneous value of
an Electric Current?

fagd ¥R & aTeatfOres A1 & 1Y T T aredd 8 ?

A Itis the value of
an alternating B Itis the value of
currentat a an instantaneous
particular quantity in a
distance in the cycle.
cycle. g Ych Ich
g s (STsfohet ) (wrsfehet ) &
# g fadw gt TTeehifereh HTSIT <hl
R UATeed 4R A gl
HI A &1

¢ Itis the value of O Itis the value of
an alternating a quantity of
quantity in the timeata
cycle ata particular
particular distance of the
instant of time. cycle.
Ig e fI &yo7 g Ieh (HTSfehet)
R 9%h (TTSfehet ) ARG RGN
# Ueh gmadt GG Y AT AT
AT T A4 81 A8

NEMA and |EC
NEMA 3R ICE

253 W/mk

It is the value of
an alternating
quantity in the
cycle at a
particular instant
of time.

Tg Toh faRiw gfor
R Gk (TTsfeRer )
¥ U gTadt AT
A B
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Which instrument is used to measure the utility
frequencies?

IUAIET <t srgfid et A9 & forg fohe e
T IUFNT foRaT STTaT 872

B Electromagnetic
A Multimeter Wattmeter
AeeHeR [EEGECEIUS
arediex
g Energy meter B Tachometer
St "R iR

What is the mathematical form of Faraday’s
first law of Electrolysis?

RT3 o fad sraues & uH fam ot Tiforda &9
T 8?

‘1m=ZQ I1m=Z/Q

C‘ Z=-Q/m ﬁ m =-Z/Q

What would be the coil span, if the span of the
coil is reduced by a electrical degrees?

af dreelt frqfRy (cbtact @) &t o Rega et & e
e feam <y, it et fagfar (chiger @) arm ghmr?

1 90+a # 180-a
C‘ 90-a j 180+a

Energy meter

Sott Hier

180-a
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What is the use of anode in a water heater?

giex glex § UHIS ol 91 IUTRT gidT 82
B Itis used to set
A protects the the tempe':rature
tank from to a certain value
) ST ST
corrosion . i
Tg oh ol H&IRUT ST I 8D
& g 2 Ao wae
A & forg femar
EICIE
G 1tis used for D Itis used for
non- lowering the fuel
maintenance of consumption
the tank ST IUANT SeF
ST IUTNT &k & @ud &t HH
h RIWE@G & & & forg femar
ferg foha sfrar & ST 8

What is the nature of the following function:

fAfefEd e &t upfa =T &:

y[n] = y[n-1] + x[n]

A Accumulator B Differentiator
TORIh 3{dchelh

Q Integrator . Subtractor
YHTchelch dchelch

The device that does not have gate terminals :

g8 Syl fogd effa e T8 gid &

A Diac b Triac
Sch <1ach

¢ scr O FeT
TR Ths!

It is used to set
the temperature
to a certain value
G IughT
duHE Bl U
fAfga a9 w® e
wA & fow foman
ST g

Integrator
YHTchelch

Diac
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The bandwidth of an RF tuned amplifier is
dependent on

IRUYT S TUAHRR Hl ssfagy R
ARk et 81
B Q- factor of
Quiescent . .
operating point tuneiépdcirlrcun
. . [ /dt gfche
i g & -Therex
! Q-factor of
tuned o/p
circuit D' All of the above
g forg Tq st/ SRI<h gaft
) afthe & -
thaex

4 boys and three girls are to be seated in a row
in such a way that no two boys sit adjacent to
each other. In how many different ways can it
be done?

4 T SR i TASfRal ot gk Ufth | 39 TR

o1 & o5 RIS oft &Y T Toh-g@R & SMTel-aTel
51 Y foRam SreTT-31eTTT aXieh O fehaT ST TehdT 272

I
=

o

All of the above
IuRh gft

504
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Starting from his house, a man walks 15.5 km
towards North, then turns left and travels 7 km.
He then turns left again and after travelling 31
km, turns left and stops after travelling 7 km.
How far is he from his house?

Ueh eafth 3109 TR & SR &Y 3R 15.5 fhed) geaar g,
fOhe ¢ 2T & ofiR 7 foneft Y ama dhear 81 fhe @8
AR O 7Y 21 8 3R 31 fonet Y T et & TG,
TG g1 & 3R 7 el Y A et & a1g T Srar
2198 S R Y fha R 82

A 8.5km B 15.5km
8.5 fonrft 15.5 fenrft
G 46.5km D 60.5km
46.5 foreft 60.5 foft

The average of five numbers is 281. The
average of the first two numbers is 280 and the
average of the last two numbers is 178.5. What
is the third number ?

UTe T3t ol Sfd 281 &1 Uge! &l Tenaii bt
39 280 & iR sifam &) Gemsit & sftaa 178.5
g1 < = = g2

‘1 178 j 368
C‘ 228 1 488

15.5 km
15.5 feptht

488
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Salim started walking from point 'P' towards
South. After walking 40 metres, he took a left
turn and walked 30 metres and reached point
Q. What is the straight line distance between P
and Q, and Q is towards which direction of P?

Gefie foig 'P' @ faior &t SR It == Sear g1 40

Hiex It & d1e, 98 a4 73T & 3R 30 Hiex erdr 8
3R foig Q TR ug= e &1 P 3R Q & &= weft 3am
i a7 g, 3R Q, P I fohw fazm iy v @2

B
A 60 metres, 50 metres,
Southeast Southwest
50 #iez, gfaroT
60 ez, zferoTgd '
afgw
! D 55metres
50 metres, )
Southeast Soutwest
55 ez, gferor
50 Htez, afgorgd }
ufge

A shopkeeper bought 30 kg of wheat at the rate
of ¥ 45 per kg. He sold forty percent of the total
quantity at the rate of ¥ 50 per kg.
Approximately, at what price per kg should he
sell the remaining quantity to make 25 percent
overall profit?

Teh gehIaR = 30 fohun g % 45 ufd e h v @
@11 T Gl A T ATedrd Ufaerd ¥ 50 ufa
foRTIT T &R & ST T 25 Ufird gt A1 St
& & o I QW A At o fhe! fohg g @R

ST =R e?

d?56 |1‘\’54
c1?60 ﬁ?SZ

C

50 metres,
Southeast

50 #iez, gfarorgd

356
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Tarak walks 10 meters towards east and then 5
meters towards south. Then, he walks 20
meters towards west and then 7 meters
towards north. In which direction is he from the
starting point?

TR gd & 3R g0 Hiex Tetar & ok fof « Hiex
ZfaroT il o el &1 oz, 9 ufgm dr o7k R0 Hiex
3R iR IR I 3R © Hiex Iera1 81 8 Rk fog
Y for fReam & &2

A Northwest B Southeast
IR ufH aferor g

! Northeast O South
SR gd gfayor

In a certain code language, ‘BRAINS' is written
as ‘RBAISN’. What will be the code for
‘CRYPTS™?

Ueh Afd e T 7, 'BRAINS' &t 'RBAISN' ot
STaT 81 dt 'CRYPTS' & folg e @ gim?

1 RCYPST E1 TSPYRC

C‘ RYCPTS D‘ RSTPYC

If 'NEIGHBOUR' is coded as ‘HBGINERUO'. How
will ADJACENTS' be coded?

gfe ‘NEIGHBOUR &! 'HBGINERUO' & &0 H aifgd
foraT SITaT &1 'ADJACENTS' @h! fohd UepR ahifed
forar StraEm?

CAEJDATSN

1 CEAJADSTN i CNAJADSTE
C‘ CDAJAESTN [1

A

A

A

Northwest

IR Ui

RCYPST

CEAJADSTN
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The letters of the word TEACHING may be
rearranged as CHEATING. If you follow the
same code, what will happen to GRADIENT?

TEACHING <1&g & 318Ri et CHEATING & =0 &
ey fohar ST ehdr 81 af 3y I8 ehts
T hed &, df GRADIENT chl Rt gIvIT?

d DIRAGENT i RADIGENT
ﬁ RATINGDI

(1 DIERATIN

A shopkeeper earns a profit of 12% on selling a
book at 10% discount on printed price. The
ratio of the cost price to printed price of the
book is:

Teh GehTER Qeh fehdTdl ahl Gfered 3l TR 10% hl &
TR ST W 12% T AT fSTd ahedl 81 Jdah

AT Hed 1 Hferd Hed ¥ 31gUTd &
#45:56 j 50:61
(190:97 I199:125

If in a certain code language ‘PERFECT is
written as ‘116’, then how will ‘DIVORCE’ be
written in that code?

g ges fAfYd ge wirer & 'PERFECT @t '116' forar
ST &, at S e |rwT & 'DIVORCE' &t forar
SiTQgIm?

d 113 E1 120
(1 123 [1 321

A

A

DIRAGENT

45:56

120
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In a code language ‘ONION' is written as
34634. What is the code for ‘'NOR'?

Ueh e 9TST H 'ONION' &t 34634 forar Sirar g1
'NOR' &l e T I ?

# 436 ﬁ 326
C‘ 437 [1 443

In certain code, ‘BASKET' is written as ‘583%#1’
and ‘TRIED’ is written as “14*#2’. How is ‘SKIRT’
written in that code?

O IS H, 'BASKET &t '583%#1' forar Sirar § iR
'TRIED' opl "14*#2' forar Sirar g1 SHt shig # 'SKIRT'
ot & forar sree 2

‘1 3%*41 # 3*%41

C‘ 3%#41 E‘ 3#4%1

One morning after sunrise, Gabbar was
standing facing a pole. The shadow of the pole
fell exactly to his right. Which direction was
Gabbar facing?

Qeh Yoig gaied o S1& TTesR Teh @ & T TSl
oT| ™Y T BT Sieh I alfgT SR TSI | TeaR ahl
g forg fam & am?

A West B South
afgw fayor

¢ East O Data Inadequate
qd Crafc e

A

436

3%*41

South
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In which direction will minute hand point at
7:15 if the hour hand points towards East at 6
pm?

afe 2 1 T T 6 9 O Y iR ST el 2, Y

e i1 gg 7:15 It fong feam A g w¥ft?
A West B South
CIEL g
! East O North
qd I

Pointing to a photograph a lady said “She is the
daughter of my grandfather’s only child”. How
is the woman related to the one in photograph?

Toh TR Y 3R 3RIRT et §Y Ueh HigeT 7 kgl '8
R gIeT I Zepeitd! Aam &t 9t 8" | AR wieTh

areft Afger @ g uepR defada 82
A Mother B Father
AT foar
O Cannot be
¢ Sister determined
e Rt &t forar
SIT Hehdl

Pointing to a man, Ayush said, “His wife is the
only daughter of my wife.” How is Ayush
related to that man?

Qeh 3MTeHT & 3R $ART e §Y YW A hgl, "Iqehl
Tt A Ut Rl Seheildl! ¢t 81" STTgy 39 &fch
g TrehR Feifera 872

A Grandfather B Father
grar e

! Father-in-law O Son-in-law
xR [

North

Mother
HIAT

Father-in-law

RS
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Pointing to Arun in the photograph, Anju said,
“His mother’s only son is my father.” How is
Anju related to Arun?

TR # 31307 I 37R 3R e Y 3] 7 e,
"3Gh! A T FehelldT a1 R fUaT 81" 3is, 3101 &

A Niece B Father's sister
isft Orar Hr 7g=

Q Daughter O Mother's sister
Cl =

Answer the question based on the following
passage.

Seven friends G, F, E, D, C, B and A are sitting in
around a circular table facing inside. B is
between D and E. A is third to the left of E. G is
the second to the left of C, who is to the
immediate left of F.

Question: Which of the following is not true?

frafafEa mernier w snutRa U &1 IR S|

9d 83 G, F E, D, C, B 3R A U gThR BT & aRY
3R R I IR F@eRh a6 81 B, D SR E F fia #
EIAERTHITMRVUHE W1 G, C & a1 & g&T

g StF& S gl
uyr: fefafea 8 @ o a1 g 781 82
By, .
A A'is fourth to B Isto .
) immediate left of
the right of E D
A EHard e B,D % &F a2
! F is third to the O Gisto
right of D immediate right
F, D & e/ dtemr of D
8 G D&dmade

C

Daughter
&

F is third to the
right of D
FD&Hed demrg
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Answer the question based on the following
passage.

Seven friends G, F, E, D, C, B and A are sitting in
around a circular table facing inside. B is
between D and E. A is third to the left of E. G is
the second to the left of C, who is to the
immediate left of F.

Question: ‘Middle person sitting between the
remaining two persons’ is a condition satisfied
by which of the following?

fafafRea merier w eneRa U o1 W QS|

g A7 G, F, E, D, C, B 3R A Ueh J<TahR Bl & IRI
3R 3fe Fi 3R 7 eh 95 &1 B, D SR EF fa &
BAEFTHATIRWAREIG, CHId A @
2 S F&h T 21

usr: ‘A &t cafhal & St do1 7em st Aefafea
# & fohadh gRT IqE & areft 2 &2

d DEB i EFB

None of these
1 FCE T A T

DEB
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Answer the question based on the following
passage. Seven friends G, F, E, D, C, B and A are
sitting in around a circular table facing inside.
B is between D and E. A is third to the left of E.
G is the second to the left of C, who is to the
immediate left of F.

Question:Which of the following is the position
of F?

fAfafEa merier w snemlRa g o 3w Sl
91d 7 G, F E, D, C, B 3R A Uk giTehR AT & aRY
3R 37eR il SR T deh a5 &1 B, D SR EF A &
BAEFTHATIRVFAWREIG, CHId @
& S Fah S ad gl

oy fAfafea & @ aar F o = 87

B
A Fourth to the To the . .
right of D immediate right
. of A
D < ard <o A% S
D
! Between A and To % .
E immediate left of
C
ASRE&G &= bt

Which of the following is not a leap year?

=1 & @ &1 Ueh ofiy af 8 82

d 700 i 800
1 2000 ﬁ 1200

Find the missing number: 3, 6, 9, 15, 24, 39, 63,?

I §=A1 A1d HIST: 3, 6, 9, 15, 24, 39, 63,2

4102 i 170
1112 1 111

Fourth to the

A right of D

D & ard <ten
A 700
A 112
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Amar got 30% concession on the label price of
an article sold for Rs. 8,750 with 25% profit on
the price he bought. The label price was :

3[R Sl 8,750 I # ST TS eh %G o wlae e
TR 30% T Be el 3R 3T gRT @ Y o0 R
25% ST g1 | deieT WR 3ifehd FHAd ot

j ¥13,000 10,000

12,000

1 16,000

Find out the wrong number in the given series:
225,289, 338,374,397, 415, 424

& T2 sjgen § Ted 9T 91d FIfSIg: 225, 289,
338,374,397,415, 424

# 415 ﬁ 289
(1 338 ﬁ 397

Complete the given series: A, C, F K, R, C,?

Q7 st Wk A, C, F K, R, C,?

Choose the missing term out of the given
alternatives: CCB, EEA, GHC, ILB, ___

g 77q forened! # ¥ @ ug @1 99+ SIS CCB,
EEA, GHC, ILB, _

d JHJ i KJH
1 KLD ﬂ KQD

12,000

415

KQD
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The first pair of two numbers follows some
paired relationship, using a similar analogy to
that of the first pair, find the missing number in
the second pair :

63: 80::15:?

3} TSl i uget Siiel $ gita dee ar
SITERUT AT &, Tgett SISt oh THT A1GY T JTFNT
R §Y, T SISt # i AT 1 e
63:80::15:?

24 12

13 42

— Q0 >
— 0O

Find the odd one out from the following
options.

fAafafed faeeat & @ 39 o1 udl g
A Campaign g Expedition
sifoaE qfew
! Crusade O Cruise
TG wRies

Choose the pair that best represents a similar
relationship as the one expressed in the given
pair of words.

THINK: UIJOL:: REASON:?

gg g4 1t g 71q <real & St # ek fohg g a\ e
Y T gy 3T UfafAfd edr gl
THINK: UIJOL:: REASON:?

‘1 SFBTPO E1 SFBTPU

C‘ SFBTRO ﬁ SRBTPO

A

24

Cruise

SFBTPO
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Choose the pair that best represents a similar
relationship as the one expressed in the given
pair of words.

Eye: Myopia:: Teeth:?

g8 g4 1 g 71q <real & S # 2k fohg g g\ e
T ohT oY 31T U eear &1
sifa: fAere gf® aiw i gia:?

A Pyorrhea B Cataract
rafan ifdafag

! Trachoma O Eczema
T et

Choose the most appropriate option in place of
non

BEGK: AFFL:: PSVY:?

"?" & I IR G IuGh [dehed g |
BEGK: AFFL:: PSVY:?

O0UX OTUZ

PQUT MOQT

S cn WS ~
ES O F gy

Melt is related to Liquid in the same way as
Freeze is related to:

T &9 @ 31 TR I g o1 thist
geEfda gl
A Electricity B Condensation
faea gredfieRoT
¢ solid O Gas
3 i

Pyorrhea
graRan

oTuUZ

Solid
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Choose the most appropriate option in place of
non

MMKO: QIOK:: UESG:?

"?" 3 I IR Ga IUGh [dehed g |
MMKO: QIOK:: UESG:?

USGA YAWC

VUES SUEG

— 0 >
— 0O

A batsman in his 12th innings makes a score
of 63 runs and there by increases his average
scores by 2. What is his average after the 12th
innings?

Ueh SeeiaTot 3Tt 12af IRt & 63 I bl WhIR §=1dT
2 3R 3Th offud @rR & 2 A gfg giet 81 12 ot
oS¢ IGhT 3MTd T §?

13 41

49 87

Y o WU ~ S
— O @

How much degree angle is formed between
clock hands at 4:15?

gt i gt & i 4 .15 0 fonat feft ot amtor
AT 8?2

‘1 40° E1 32.5°
1 37.5° 1 100°

B YAWC
B 41
C 37.5°
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What will be the angle covered by the hour
hand in 5 hours 10 minutes?

He I gg gRT 5 °¢ 10 e & qu foram mar st
e ghm?

# 150° ﬁ 145°
C‘ 160° [1 155°

A and B start from two opposite ends of a
swimming pool. They cross each other at a
distance of 18.5 meter from the end at which B
started. They reach their opposite ends, rest for
45 seconds, and then start swimming for their
return laps. Now, they cross each other at a
distance of 10.5 meter from the other end.
What is the length of the pool?

A 3R B Uah a7 get & &l faudid 8k & & &ed
213 Uoh g ol ST BR T 18.5 IR Hl gt ;R IR
&d § STe1 9 B Y= g1 81 d 30 faudia sR ae
Ugad 8, 45 ¥chs & oIy SR &hed 8, SR fthe srast
O o oG a=AT S el &1 91, I QAR BR &
10.5 ez dI T TR Uk gER ! UR & & | U hl
cas fomat 87

A 29 meter B 45 meter
29 i 45 ffex

! 58 meter O 35 meter
58 Hiex 35 e

D

145°
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Kabul is 4 hr ahead of Istanbul and 2 hr behind
Amritsar. A Truck leaves Istanbul at 6 p.m. on
Friday (Istanbul local time) and reaches Kabul
the next day. After stopping there for 2 hr, it
leaves exactly at noon (Kabul local time) and
reaches Amritsar at 1 a.m. (Amritsar local
time). Its journey, including stoppage, is
covered at an average speed of 100 km/hr.
What is the distance between Istanbul and
Amritsar?

YT ST T 4 ©e 3 3R IHaeR 4 2 6 fid
81 Ueh gk AT 6 91 I © feheld 81 [EhAR
(FHIgA W T99) W 3R Tt i hrget ugadt
&1 981 2 68 T o d1G, g SIeh aIUeR (AT T8y
1Y) R Fepetdt & R AugR 1 99 (SMaeR

@ T) SR UgTd! &1 i afgd saeht
T 100 Rt/ Her <t efterd i & a9 &6t STt 81

ST 3R AR & ot di g T 87
A 1500 km B 2500 km
1500 feprft 2500 fopet
¢ 3500 km D' 4000 km
3500 foprft 4000 forst

There are 6 pairs of black gloves and 5 pairs of
white gloves. They all are put into a box and
gloves are drawn one at a time. To ensure that
at least one pair of black gloves is drawn out,
what is the minimum number of gloves
required to be drawn out?

P GLA & 6 SIS 3R Tthe g h 5T &1 3
gt @t Ues dTa | 31 fan Siran & ok e Ua-
Teh hedh Aehet STt &1 I8 AR st & forg fn
% Y A Teh SIS et G&AI el [+eptell STy, dt
&1 Y Y fohd= S ot [Rahre & smasaesar g2

ER—
R
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Find the odd one out.

fawm g1

A August B September
ST fRAdsR

g January O July

What number will replace the question mark
below?
8=56,7=426=305=204=123="?

= 2w 7T s g & WM WR siA-dt e
3maEft?
8=56,7=426=305=204=123="?

15 12

19

— QO >
0O _ m

If the code for FOOTBALL is 8 and that for
HOCKEY is 6, then what will be the code for
BADMINTON?

gfe FOOTBALL & fig it 8 & 3k HOCKEY &
o7 6 &, 9T BADMINTON gl chlg T BRTT?

ik K
I i

If the perimeter of a circle is equal to that of a

square, then the ratio of their areas is:

& Goh g1 ol URATY Ueh a7t & aRATT & aR1eR §, at

3Tch &Athel| el STUTd BT :
‘1 22:7 i 14:11
1 7:22 '1 7:23

September

frder

1411
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Daksh is taller than Manick, but not as tall as
Rohan. Somesh is shorter than Daksh, but
taller than Farhan. Who among them is the

shortest?

28T, Ui T e €, Afeh Ag foia=m o 781 &1
AL &7 T BIT 8, AfchT WgH A da1 81 379 T

gaY Slel HF 82
A Daksh B Manick
5] orfaes
O Can not be
¢ Farhan determined
WEH Freifa 78t fopam
STT Gehdl &

Which country did India defeat in the men's
hockey final of the 1980 Moscow Olympics?

1980 & ATEER! 3icifen & Yo Blehl TIgd H HRd

7 forg =1 ol =T Ur?

A Spain B Argentina
= IS

! Tanzania O Pakistan
denfaar uTfehad=

Who won India's first ever Olympic Gold Medal

in an individual event?

Zfhd Yl # YR T gga siteiften wof ueen

fora Sftar?

>

Abhinav Bindra
3rfae fafer

fan)

Neeraj Chopra
et ger

lw)

Gagan Narang
T AR

Karnam
Malleswari

HUTH Aeel gt

Farhan
HEH

Pakistan

Tfehea

Abhinav Bindra
IR ECRT A
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Who is the present cabinet minister of Ministry
of Social Justice and Empowerment?

TSR =T 3R SifYerTRar #atera & ada=
Ffoe w5t &t 82
. B . .
48 iectlon A br Virendra lS;z:]ti.Smrltl Zubin
Kumar
e sfrereht wfay e
3 dRg AR -
¢ Shri Mukhtar D
. Dr. Bharati Pravin
Abbas Naqvi
off 7EAR e Pawar
S-S S YRt gdior varR
Union Agriculture Minister Narendra Singh
Tomar has recently launched a new Logo of
which Government scheme?
FERT iy 730 R g 7R A g1 8t 7 Ry TRt
TISTAT T 7T ANTE i~ fohaT 872
49 Section A National B National Bee-

2 Bamboo keeping Mission
Mission T HeHeRd!
et gig A= ICERERE

¢ National O National Animal
Horticulture Husbandry
Mission Mission
¥ ARTEET LT U
ENE EAE
Mikhail Mishustin is the Prime Minister of
which country?
_ fraTga A= fohg dar & gam w30t 82
Section
50 9
A Russia B France
&g hid
¢ Australia O croatia
Sifeferar shigfRrar

Dr. Virendra
Kumar

31 dRs AR
National Bee-
keeping Mission
Rcivt AYFeRE!
e faRe

Russia

Eaxsy
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